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Instructions:

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

Q.1 (a) Write short notes on “single stage networks vs. multistage networks 05
(b) Enlist different network management standards and explain salient 05
features of each standard.
(¢) A group of 20 servers carry traffic of 10 erlangs. If the average duration 04
of a call is 3 minutes, calculate the number of calls put through by a
single server and the group as a whole in a one hour period.

Q.2 (a) Explain in detail time multiplexed space switching with diagram. 07
Calculate the number of trunks that can be supported on a time
multiplexed space switch, given that\\

1. 32 channels are multiplexed in each stream
2. control memory access time is 100 ns
3. bus switching transfer time is 100 ns as per transfer.
(b) Explain in detail level 3 processing of distributed SPC. Also compare 07
micro programmed and hard wired control.
OR
(b) Explain in detail synchronous duplex mode of operation of centralized 07
SPC. Given that MTBF = 3000 hours and MTTR = 5 hours, calculate the
unavailability for single and dual processor systems.

Q.3 (a) Explain in detail parallel-in/parallel-out switch with configuration and 07
contents of control memory locations..

(b) Explain in detail LCC system with finite subscribers with derivation of 07
blocking probability and GOS.
OR

Q.3 (a) Explain in detail with diagrams time slot interchange switch (TSI). 07
Calculate the maximum access time that can be permitted for the data
and control memories in a TSI switch with a single input and single
output trunk multiplexing 2500 channels. Also estimate the cost of the
switch.

(b) Define the following terms 04
1. Busy Hour 2. Peak Busy Hour 3. BHCA 4. CCR
An exchange serves 2000 subscribers. If the average BHCA is 10000
and the CCR is 60%, calculate the busy hour calling rate.

(¢) A group of 20 servers carry traffic of 10 erlags. If the average duration of 03
a call is three minutes, calculate the number of calls put through by a
single server and the group as a whole in a one hour period.

Q.4 (a) Explain in detail organization model of an OSI network management 07
model.

(b) Draw and explain SNPMv2 system architecture 07



Q4

Q.5

Q.5

OR
Explain in detail information model of an OSI network management
model.
Explain in detail command generator and command responder
applications of SNMPv3 with diagrams.
Enlist the basic tools used in network management. Explain any two of
them in detail.
State different event correlation techniques and explain any two of them
in detail.

OR
State and explain in detail different SNMP tools. Also explain in detail
protocol analyzer.
Explain in detail cryptography
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